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CGxmew0

(@i). Const1uct a vernier scale of RF = 1/30 to read centlmetels upto
' 5 metels and on 1t show lengths of 3 72 m and 286m. - (10

Or- ..

Sketch by ﬁee hand the top view, front view and any one suie v1ew of the
object shown all dnnenswns are in-mm, ' '

Maxnnunl 100 malks o

(M) ..::.:.'-A Stung of length 220 mm is \vound round a c1rcle of 1ad1us 25 mm, -

:1:1__ ;:':‘-Dl aw the path txaced by the end of the strmg Also dlaw a tangent L
o and nonnal to a point on the involute. L S (10)- -



.CJ't

(a)

)

The end P of a line PQ, 70 mm long is 15 mm above the. HP and 20 mm in
front of the VP. Q is 40 mm above the HP. The top view of the line 1s

inclined at 45° to the VP, Draw the projections of the line and find 1ts '

t1 ue 1nchnat10n with the VP and the HP
Or

A rectangular plate _inea__suring 70 % 40 mm. has one of its shorter edges in

-the VP inclined at 40° to the HP. Draw its top view if its front view is a A
square of side 40 mm. Draw_its pleectmns and also fmd the true

.' i -1nchnat10n of the plate wu;h the VP A

@

. A héxé@nal pylamld Wlth ‘30 mm 'bae.e side and 70 mm long axis is lyihg
~.on a slant edge on the glound such that the axis is palallel to the v.p -
s __Dlaw 1ts 1)10]ectmns L P e (20) REER

S

O

-A hexagonal pnsm of 30 mm hase 31de and axis 65 mm long, has an edge g

- “of its base in the V.P. such that the axis’is mchned at 30° to. the V P and. o S

.j ',}_paraﬂel to the H P Dlaw 1ts l)IOJeCtIOI’lS e (20) Shhe

- “equally inclined to the VP. It is cut by a plane perpendicular to the VP

5 ~and inclined at 30° to the HP meetmg the axis at 25 mm above the base: -
‘Draw its front view, ‘sectional top view and the true shape of the section.

()

(a_)

- (b)

O_r

A ciréular hole of diameter 30 mm is drilled through a vertical cylinder of
diameter 50 mm and height 65 mm. The axis of the hold is perpendicular

to the VP and meets the axis of the cylinder at right angles at a height of

- 30 mm above the base. Draw the development of the lateral surface of the
' cyhnde1

Draw the isometric view of a frustum of a hexagonal pyramid when it is
resting on its base on the HP with two sides of the base parallel to the
VP. The side of base is 20 mm and top 8 mm. 'I‘he height of the frustum is
55 mm.

Or

A square prism-of base 95 x 25 mm and height 40 mm rests on the GP on |

one of its ends with a rectangular face receding away from the PP
towards right making 60° with PP. The corner nearest to the PP is
40 mm to the left of the station point and 20 mm behind the PP. The
Station point is 60 mm above the GP and 50 mm in front of the PP, Draw
the perspective view of the prlsm by visual ray method. Use the top view
and the front view.
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A cube of 31de 30 mm ).ests on the HP on. 1ts end w1th the veltlcal facas L



